1 Jeffrey, as an eight-year old, established a mean time of
16.43 seconds for swimming the 25-yard freestyle, with a
standard deviation of 0.8 seconds. His dad, Frank,
thought that Jeffrey could swim the 25-yard freestyle
faster by using goggles. Frank bought Jeffrey a new pair
of expensive goggles and timed Jeffrey for 15 25-yard
freestyle swims. For the 15 swims, Jeffrey's mean time
was 16 seconds. Frank thought that the goggles helped
Jeffrey to swim faster than the 16.43 seconds. Conduct a
hypothesis test using a preset a=0.05 . Assume that the
swim times for the 25-yard freestyle are normal.

A Mean
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3 Joon believes that 50% of first-time brides in the United

States are younger than their grooms. She performs a
hypothesis test to determine if the percentage is the
same or different from 50%. Joon samples 100 first-time
brides and 53 reply that they are younger than their
grooms. For the hypothesis test, she uses a 1% level of
significance.

A Mean

B Proportion

Suppose a consumer group suspects that the proportion
of households that have three cell phones is 30%. A cell
phone company has reason to believe that the proportion
is 30%. Before they start a big advertising campaign,
they conduct a hypothesis test. Their marketing people
survey 150 households with the result that 43 of the
households have three cell phones.
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2 Acollege football coach thought that his players could

bench press a mean weight of 275 pounds. It is known
that the standard deviation is 55 pounds. Three of his
players thought that the mean weight was more than that
amount. They asked 30 of their teammates for their
estimated maximum lift on the bench press exercise.
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4 Statistics students believe that the mean score on the

first statistics test is 65. A statistics instructor thinks the
mean score is higher than 65. He samples ten statistics
students and obtains the scores 65; 65; 70; 67, 66; 63,
63; 68; 72; 71. He performs a hypothesis test using a 5%
level of significance. The data are from a normal
distribution.
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